188
AJ—k TOYVZDER

AjD‘JDTLU J

H29 8 278V 7 hN\L—RB7OY 7T T AT« /N in &R

_ 5 IS SIS % i
F-LB g T E TR [ E Rl s T wlal ® =
RBP2I2S5D—X[ O 3 0 6 000 | 48] 90 [o053 [3 4
=5 [ROXF MIE] 2 4 2 (200 [82] 74 [111 |5 3
) F—VXA 2 1 4 2 200 85] 64 [133 |5 1
=g SBOST 2 1 4 2 200 | 85]| 72 [118 |5 2
[ElE F—ALB EIEEEEE F—ALB ES H
B 7 — 15 Al B
A-1 | BT SD—=X| O 10 — 15 2 SBOST F—VXA
== 10 — 15 B [FE
A-2 [RDOZ+ MIE|l O 12 — 15 2 F—V XA RP2S50-X
B 4 — 15 B EA
A-3|{HPI25T-X| O 8 — 15 2 F—V XA SBOST
= 15— 12 BH] RE
A4 |RDZ MIE|l 2 15 — 13 0 SBOST RPp2I2>50—-X
RE 10 — 15 == Bo
A5 |RFPDIST—-X| O 9 — 15 2 | ROX MIE =V XA
] 12 — 15 b=Zi ==
A-6 ~—V2ZA 0 13— 15 2 SBOST RO+ MIE
188 ‘ X
JO—F TJOVDES BjDuDTL'J—D‘
% il% = 9& ES = PN T R & —
IFE [ COESVC-A| 1 2 2 5 |o40 | 76 |1102[075 [ 4 3
= EE 2 1 5 2 250 | 93] 78 [119 |5 2
) HOE 3 0] 6 1 |600 [104] 61 |170 |6 1
=450 1k VRC 0 3 1 6 017 | 72 1104|069 [3 4
[EE F—ALB 5 8 B F—=—ALB [ = el
&= 17 — 16 B50 B
J-1| T5ESVC-A| 2 12 15 1 FiVRC HOE
15 11
== 9 — 15 BB BE
J-2 (= 1 16— 14 2 HOE CHESVC-A
8 — 15
= 4 — 15 B EAl
J-3| C5ESVC-A| © 10 — 15 2 HOE FiVRC
== 15— 9 B50 RE
J-4 X= 2 15 — 7 (0] imVRC CHOESVC-A
B 10 — 15 = B
J-5| THESVC-A| © 8 — 15 2 P = HOE
BB 15— 3 b= ==
J-6 HDOE 2 15 — 6 0 HIWVRC R

2017.11.18-19 R OEIEEEEEE
288 ‘
Aj ~ JOYVADER 1«21 )—=20
5 By DS 1 YRR 2 N
FT-L® T e Bl EI X Bl &% |a "m U
A2fi oSBT 2 1 4 3 [133]92] 89 [103 [5 3
B2fI = ) 3 1 6 _|oi17 | 82 [104] 079 |3 4
A1{iI F—=V XA 2 ] 5 2 1250 199 88 [1.13 |5 1
BAfi HDE 2 1 4 3 1133 [100] 92 1109 [5 2
(B F—-—ALB 38 fd £ F LB S
A2f 13— 15 B1fu ATf
A-1 SBOST 0 11 — 15 2 HOE F—V2ZA
B2fi1 13— 15 ATfT A2fi
A-2 K= 0 11 — 15 2 F—VXA SBOST
A2f 8 — 15 ATf B1f
A-3 SBOST 2 15 — 11 1 =V XA HOE
15 — 11
B2fi 15— 13 B A2t
A-4 x= 1 14 — 16 2 HOE SBOST
7 — 15
A2 15 — 10 B2fi Alf
A5| SBOUST 2 1 — 12| 0 RE F—V2A
A1f 17 — 15 B B2
A-6 F—V2A 2 15 — 11 0 HOE RE
288
\Jj—l\ JOVANE 3 4f1)—=2D
5 B v XK 1 YRR 2 N
FT-L® T e Bl EIE Bl &% |a ® U
AL FPI250—X| O 3 0 6 [ooo | 62] 90 [069 |3 4
B4 HimVRC 2 1 4 3 [133]92] 89 [103 (5 2
A3 | RO MIE[ 3 (@) 6 1 600 | 99| 79 [ 125 |6 1
B3l CODESVC-A | 1 2 4 4 1100 [111]/106[ 105 |4 3
[H: F—-—ALB 8 fd £ F—-—ALB [ = H
Adf 13— 15 B3 A3
J1 | [{FPI73D—-X| O 10 — 15 2 CHESVC-A |[RDOZE+ MIE
Bafil 7 — 15 A3 Adf
J-2 FVRC 0 11 — 15 2 | RO+ MIE| BPD50-X
Adf 11 — 15 ABf B3fm
J-3 | [{FPTI5T—-X| O 11 — 15 2 | RO+ MIE| C5&8VvC-A
B4fi1 12 — 15 B3fi1 A4
J-4 imVRC 2 15 — 11 1 CHESVC-A Rp2IS5T7—-X
17— 16
AL 9 — 15 Bafil A3
J-5 | I35 D—-X| O 8 — 15 2 FWVRC RXOZA+ MIE
ABf 15 — 11 B3 Baft
J-6 |RDZ+ MIE| 2 9 — 15 1 CHESVC-A FHVRC
15— 13




H29 8 278V 7 hN\L—RB7OY 7T T AT« /N in &R

2017.11.18-19

NS € =y NS

188
BI—k XRULDDEY ATJOVIOTE—D
_ B B IS A S ¥ i
| ThE pTe el &= B &% x| ® O
8| Bg#HS-V-C| 3 0 6 3 [200 [126] 110115 [ 6 1
= Let)®svc 2 1 5 3 167 [111[101[ 110 [5 2
feFd o] N-one 1 2 3 5 Joeo [95 108088 [4 3
BRH|LvFEYF-Z O [ 3 | 3 [ 6 [o50[107[120[0s89 [3 4
B F—AhB B F—AhB ES ¥
e 15 — 12 =T T
B-1| &%S.V-.-C| 2 8 — 15 1 Ly REYF—X N-one
15 11
== 15— 10 BE e
B-2 Let#sve 2 15 — 12 0 N-one BHESV-C
e 15  — 7 BE =T
B-3| &ES-V--C| 2 13 — 15 1 N-one Ly REYF—X
15  — 10
== 15 — 11 =2 RE
B-4| Leti®svc 2 11 15 1 |LykREYF—-X| &#ES-V-C
15 — 8
e 15— 10 == BE
B5| &%BS-V-C 2 15 17 1 Leti®Esve N-one
15  — 13
] 15— 6 =T ==
B-6 N-one 2 10 — 15 1 Ly REYyF—X Let®svc
16— 14
188 ) \
Kd—F ZAMULDODOE BIJOVIOFZE—D
S _ B B S ™1 YRR # i
TL® rETelElEwm[ &% |a B 0
KOS 1 2 3 5 Joeo [104] 102102 [4 3
TAIRKES 31 016 1 [600 [103] 80 [129 |6 1
Fh | ESEH5DPP | O 3 1 6 |o17 | 72 [102[071 |3 4
TR EBXDIST 2 1 5 3 167 [105/100]105 |5 2
[EE F—AB B F—AhB =S ¥
e 15 — 10 =2 e
K-1 KO>T 1 11 — 15 2 BROST ESH5DPP
10 15
== 15 7 BE e
K-2| #RRKES 2 15 — 12 0 ES/HHDPP KOST
BRE \ 15 — 8 BE X \
K-3 KOS 2 12 — 15 1 ES/FHBOPP BROST
15 — 8
== 15 — 10 =T ]
K-4| MIRKES 2 12 — 15 1 BROST KO3>T
15— 10
e 12 15 == ]
K-5 KOS 0 14 — 16| 2 NP ESEHBDPP
] 11 — 15 X e
K-6 | ES®EHBDPP | O 11 — 15 2 BROST MBRIKIES

288 i
BId—k XXRUDDER 1« 2 =2
_ B 3 v EE N YRR 2 N
W| 7% BT el el = Bl 5%~ B ©
LetiEsvc 0 3 2 6 (033 [ 99 [112]oss |3 4
1| BXDOST 2 4 3 [133 [ 93] 89 [104 |5 2
Al 8%S-V-C | 2 1 5 3 [167 [105]100] 105 |5 1
Biftil MRKES 2 1 5 4 (125 1118|114 [ 104 [5 3
(= F—-—ALB 8 B 2B F—-—AB ES ¥
AR 15 — 12 B Al
B-1 Leti®sve 1 12 — 15 2 MBRIKIES 8BSV -C
13— 15
B2f 13— 15 AR ADT
B-2 BROST 0 11 — 15 2 BHS-V-C Let’®sve
ADf 11— 15 AT B1f
B-3 Let'Esvc 1 15 — 8 2 B#ES-V-C MBRKIES
9 — 15
B2 7 — 15 BT AT
B-4 BRIOST 2 15 9 1 MBRKIES Let’®svec
15— 11
A2l 9 — 15 B2f AT
B-5 Leti®sve 0 15 17 2 BROST BESV-C
NI 12— 15 B1f B2
B-6| &%S-V-C| 1 15 — 11 2 MRKIES BRDST
10  — 15
288 i
K3d—Fk ARUDDE 340 )—=D
_ [ 3 v EE 1 YRR # N
T-hE ETe B & F B[ &% s B U
A4fiilUy FEVEF—-X] 3 @) 6 1 600 |105] 80 | 131 [6 1
B4fi| ES&EH5DPP | 2 1 4 3 [133 [91] 92 [o99 |5 2
A3fi1 N-one 0 3 1 6 o017 | 72 1101 [0o71 |3 4
B3fi7 KOS 1 2 4 5 losgo [123[118[ 104 [ 4 3
[EE3 F—-—ALB 8 B F F—AhB [ = ¥
AL 12— 15 B3 A3l
K-1|Ly REYF-=Z| 2 17 — 16 1 KOS5T N-one
15 10
B4 15— 10 A3 AL
K-2 | ES/FB0PP | 2 15 — 10| O N-one Ly RrEYF-—X
AL 15  — B ABIT B3
K-3|LwvREByF—Z| 2 15 — 9 0 N-one KO>D
B4fi1 7 — 15 B3 AL
K-4 | ES/HHBOPP | 2 17 — 15 1 KO3ST Ly RrEYyF—X
15 — 11
AL 15 8 B4 A3
K-5|Lv RrEYF—-X| 2 16— 14 0 ES/BOPP N-one
A3 8 — 15 B3 B4fm
K-6 N-one 1 15— 11 2 KO>D ESHHDPP
12— 15




188

CI—k YIUIN—DEB

A7D vOFE)—D

H29 8 278V 7 hN\L—RB7OY 7T T AT« /N in &R

5 DS IS 2 i
F-08 T A TR IRl T Rl & 5 la ®
CDOESVC-A| 1 2 3 5 |oe0 | 95 |103[ 092 |4 3
PRYDTR 3 0 6 2 [300 [101] 82 [ 123 |6 1
~F—VZB 0 3 1 6 |lo17 |64 [102[063 [3 4
IS 2 1 5 2 [250 [O97 [ 70 1139 |5 2
F L& B S s =2 F L% E
B 13— 15 =2 B
C-1| CHESVC-A| O 10 — 15 2 IS AL ~—V2ZB
== 15— 8 BE G
c-2 PRYDI R 2 15 7 0 ~F—VXZB CHESVC-A
RE 15 13 BE B0
C-3| THESVC-A| 2 12 — 15 1 ~—V2B Y5 A
15— 10
== 15 — 12 A0 ‘ RE
C-4| PRvYDIZR 2 6 — 15 1 VAU CHESVC-A
15— 10
m&% 8 — 15 =8 i)
C-5| CTHESVC-A 1 15 — 5 2 PRy IR ~F—V2B
7 — 15
) 9 — 15 EA ==
C-6 F—V2B 0 2 — 15 2 VADZSJA PRYDIZ
188 \
LO—F YILIN—0DF lejuD )=
3 _ 5 DS T YRR ® N
F-48 R TETE IR Tl sl sla " &
HIRO 2 1 4 3 1133183 89 [093 |5 2
=L wi 3 [¢) 6 O [600 [ 90| 44 [205 |6 1
SERAESR ) 3 2 6 [033 [ 82111074 [3 4
B | F—AER=Y 1 2 2 5 lo40 | 82| 93 088 | 4 3
IER F L8 K S e 2 F L [ & %
I8 15 — 12 ZX0 i)
L-1 HIRO 2 15 — 11 0 F—AE=T SERATERER
= 15— 6 ] B
L-2 | ma8mo3>7 2 15 — 7 0 SERATEIER HIRO
R 15 11 BE EA0
L-3 HIRO 2 9 — 15 1 P2 YNTES] F—AR=T
15— 10
= ‘ 15 — 9 =2 RE
L4 | @BHYST | 2 |15 — 8 | O | F—LAR=T HIRO
BE 9 — 15 == B
L-5 HIRO 0 5 — 15 2 mamoS>7 SEMAERER
=] 13— 15 =50 ==
L-6 SERATEIER 1 15 — 12 2 F—ALAE= mwamo>7
5 — 15

2017.11.18-19 R OEIEEEEEE
288 )
COd—F YJUIN—0DEB 121 )—=4
N B = Ty FE TAUFE [

W| 7L rETEelEl Al E A5 %l B O
A2f1 ADEIN 3 0 6 1 600 [104| 82 [ 127 |6 1
B2fi1 HIRO [¢) 3 3 6 050 [115[136[ 085 |3 4
Al PARYDR 1 2 2 5 (040 [ 81| 92 088 [4 3
Bifii| WHMOST 2 1 4 3 [133 1011 91 111 |5 2
(= F—AhB B F—-—AhB ES Ll

A2fT 15 — 11 Bl AT
C1 VADZSAN 2 15 — 12| O mwamo>7 PRYDIZ
B2fi 7 — 15 Alf A2f
c-2 HIRO 1 16 — 14 2 PRy D2 VADZSNAN
9 — 15
A2 15 — €] A1 B11i1
C-3 HIS A 2 15 10 0 PRYDIR mEmo>7
B2fi1 16 — 17 B11{iz A2fi1
C-4 HIRO 1 177 — 16 2 mamo>7 VADZS AN
10 — 15
A2fT 13— 15 B2i AT
Cc-5 VADZSUAN 2 16 — 14 1 HIRO PRYDIZ
15— 11
AT 10 — 15 Bl B2
C-6| PRyYDZR 0 8 — 15 2 mamoS7 HIRO
288
L:J— ~ YJ)UIN—DE 3 44ua)—2
i L DS N YRR #* N
T-LhE BT el m & [ |65 % |x| ® U
A4{1 ~F—VZB 0 3 [¢) 6 |looo |61 [ 91 [o67 |3 4
Bafi] EIAHMSR 1 2 4 4 1100 [103[104[099 [4 3
A3 CDESVC-A| 2 1 4 3 113390 [ 89 [101 |5 2
B3| F—A%E=9 3 0O 6 1 1600 [104[ 74 [141 |6 1
[EE F—-—AB S e 2 F—ALB [ = ¥
Adfi 9 — 15 B3 A3f1
L-1 F—V2ZB ) 10 — 15 2 F—AE= CHESVC-A
B4l 15 — 12 A3 AL
L-2 SERATEIER 1 8 — 15 2 CHESVC-A ~—V2ZB
12— 15
Adf 10 — 15 ABf B3
L-3 F—V2B 0 14 — 16 2 CHESVC-A F—ALAER=T
Bafi 10 — 15 B3i AT
L-4 JERATERSR 1 16 — 14 2 F—AR= ~—V2ZB
12  — 15
Adfi 3 15 B4l A3f
L-5 F—V2B 0 10 — 15 2 SEMAERER CHESVC-A
A3 6 — 15 B3l B4l
L-6| CT5ESVC-A| O 11 — 15 2 F—AE= PEEYNTIES




H29 8 278V 7 hN\L—RB7OY 7T T AT« /N in &R

2017.11.18-19

NS € =y NS

188
DI—F INPEOE AJOVIOFTEI—D
Y _ 5 B Zy R ™1 YRR ¥ i
)| Th8 'BETe Bl ElF B E] % o 'm U
I8 [BBBrEIY2”"7°[ O 3 0] 6 |ooo [ 24 ] 90 |027 |3 4
=F [MEDDI v DX 3 @) 6 O |600 |92 1 43 | 214 |6 1
erd i) FEVSC 2 1 4 3 [133 |96 68 [ 141 |5 2
ZR|F-—LHigh]| 1 2 3 4 |lo7s | 76| 87 |os7 |4 3
[EE F—AB 8 s & F—-—ALB = K]
RE 4 — 15 E5 BD
D-1 |BBsEYa2Z=7| O 10 — 15 2 F—AHigh FEVSC
=3 15 — 3 BB T
D2 |MEDz=vOZ| 2 17— 15 o} FEVSC BB,y aYya=)
®E 5 — 15 ] B50
D-3|EEByEYa2=7| O 0 — 15 2 FEVSC F—AHi gh
=& 15 — 10 = ®E
D4 |[MEZ2z-voZ| 2 15 — 5 0 F—AHigh |BEByrEY2ZP
RS 1 — 15 =& B
D-5 BB sEYa="7| O 4 — 15 2 | BT ZvOR FEVSC
BE 15— 13 =T ==
D-6 FrVSC 2 13— 15 1 F—AHigh [BMEDOIZvDOX
15 — 3
188 \ i
EJ—F INZWE2EEDE BIJOvIOFHEI—D
B _ 5 8 Ty XK A YRR 2 i
T-LE T elwm R F B[ &% x| ® @
[ S=Ya=—P/\L—| 2 1 4 2 1200 | 66| 59 |112 |5 2
=5 [Ex2EJVJVC|] 1 2 2 4 loso | 72| 66 [109 |4 3
g [23F v AVSC| 3 0 6 O [600 |00 | 35 [257 |6 1
=50 B 0 3 0 6 000 | 22 90 [024 |3 4
[ F—L3 R o s = F—-—L3B [ & #
RS 15— 4 =T B
E-1 |BEYaz=PNL—| 2 15 5 0 fnt’i() 28+ v XVSC
== \ 10 — 15 BE ®E
E-2 |BR&ETVJIVC| O 12 — 15 2 | 88F+vyRAVSC |BEYaZP/\L—
B 1 — 15 1] EH
E-3 |BEyazP/L—| O 5 — 15 2 £+ v XVSC it
=3 15 — 4 =25 RE
E-4 [BEETVJIVC| 2 15 — 2 0 488 BEY1=PN\U—
®E 15 — 10 =3 T
E-5 |BEYa=7/I\L—| 2 15 — 10 0 E2EtTVJIVC | BEF v VSC
= 15  — 4 = =&
E-6 |28+ v AVSC| 2 15  — 3 0 988 28T VJIVC

288
DI—F  INZEEDE 1« 21 =20
_ B 2L v XK AV RR ® o
T-LE T el mlE [ ® (Bl &% |x " ©
A2{i1 FEVSC 1 2 3 4 |o75 |87 82 106 |4 3
B2fi|l@EYa=—r7/\U—| O 3 1 6 o017 |67 (101|066 |3 4
AR KEDO T v D[ 2 1 4 4 100 |99 1105[094 |5 2
Bifi|ZEEF v XVSC| 3 O 6 O |600 | 90| 55 | 164 |6 1
IE= F—=—ALB Bl F—-—AB = ¥
A2fi 12 — 15 B ATf
D-1 FEVSC 0 9 — 15 2 2F v XVSC B T v X
B2l 13 — 15 A1fT A2fi
D-2 |[BEvazrPnL—| A 15 — 11 2 | MBEDxZwvOX FrVSC
11 — 15
A2fi1 16— 14 ATfT Bl
D-3 FEVSC 1 10 — 15 2 |MBEDzZyvOXR| EFFwvIAVSC
10— 15
B2ii 11 — 15 B A2fi
D4 |BEyaz=7/L—| O 9 — 15 2 28+ v XVSC FEVSC
A2fi 15  — 3 B2ii ATf
D-5 FEVSC 2 15 — 5 0 [BEYaZPN\NL—|MBEDTTZvDR
ATf 4 — 15 B B2l
D6 [MBEZT=-vPZ| O 10 — 15 2 | 88+vyAVSC |[BEYa2ZP/1\L—
288 ‘
EDJ—F INZ2EDER 34f1)=D
_ B ™ Ty & AR ¥ "
W| 7 L% I TeTETE s el s [ wlal B O
A4 |[BEBSs EY 2207 A 2 3 4 o075 [80] 88 |091 [4 3
B4z i 0 3 0 6 [000 | 40] 90 [044 [3 4
A3 F—AHi gh 2 1 4 3 1133 [92 [ 68 |135 [5 2
B3| EZ&tETIVJIVC] 3 0 6 O [eo00 91 ] 57 160 |6 1
[EE F—ALB o8 i £ F—ALB [ & #
Adfi 13— 15 B3 ABfT
E-1 |B9EsEY2=P| O 10 — 15 2 BT VIVC | F—AHisgh
B4l 0 — 15 A3 AL
E-2 it 0 10 — 15 2 F—AHigh |[BEByrEY2ZP
AdfT 5 — 15 A3 B3l
E-3 |BEBsEYaZP| 1 15— 12 2 F—AHigh | 2&tJVJVC
7 — 15
B4l 7 — 15 B3l A
E-4 ] 0 7 — 15 2 | ®&EIVIVC |BEBFrEYaZT
Adfi 15  — 8 B4l A3
E-5 |EBsrEY2=7| 2 15— 8 0 bl F—AHigh
A3 6 — 15 B3 B4l
E6|F—AHigh| O 14— 16 2 22T VJIVC 558




H29 8 278V 7 hN\L—RB7OY 7T T AT« /N in &R
2017.11.18-19 R ORI EERE

188 288
GI—F JP7IU—08 ATJOVIOFTE =D GIO—F D73 —0DE 1.2 )—=4o
A _ S 5 S M- > & 21 1\ _ 5 3 Ty XK "1 YRR ® o
: F-L® 'BTelE & w B[ &]%|a ™ O W | 7L rpTelwE [ w B 5w el B M
R8[ Y551 — 1 2 3 4 lo75 | 76| 92 [083 [4 3 A2fi| F—ALAHE 0 3 3 6 o050 [105][131] 080 |3 4
=5 |E8tJVJIVC] O 3 0 6 (000 [B52] 90 [o058 |3 4 B2fii[gvE—-D»p3u—| 2 1 5 3 [167 [109]100] 109 [5 1
B | RWEF - C 3 @) 6 1 [600 97| 64 [152 |6 1 Alfin] R¥EGF-C 2 5 | 4 [125 [128][115]1.11 |5 2
B F-—LBE 2 1 5 3 [167 [100] 79 [127 |5 2 Bifil AlLTv E 2 1 4 4 [100 [99 ]| 95 [104 |5 3
[ F—AB B F—AB ES L] [HE F—-—ALB B F—-—ALB = ¥
e 15  — 13 B B A2fT 4 — 15 B11i AL
G-1 PHF 1 — 1 9 — 15 2 F—LBE AREBF-C G-1 F—LBE 1 15 — 11 2 LTy REBF - C
8 — 15 7 — 15
== 11 — 15 ] FE B2fi 16 — 14 ATfI A2fT
G2 |®BB&ETJVJIVC| O 12 — 15 2 AEEF-C YT 1 — G-2 |Fve—-2pzu—| A1 8 — 15 2 KEEF-C F—ABE
— 10 — 15
ke 12 — 15 ] A AR 15  — 17 AT{I B
G-3| UHFTr— 0 2 — 15 2 AKEBF - C F—LBE G-3| F—LBE 1 15 — 13 2 REBF - C HDIVTw
— 12— 15
== 5 — 15 B4 RS B2f 15  — 12 B A2fT
G-4 |E2&ETVJIVC| O 5 — 15 2 F—ABE YT 1 — G-4 |FvE—-2p3U—| 2 15 — 7 0 vl ViV F—ABE
ke 15 — 11 =5 BT A2 6 — 15 B2fi1 AT
G5| YHTr— 2 15  — 8 o0 | ®&tJvJVC KEEBF - C G5| F—ABE 1 15 — 13 2 |JvE—-D»3U—-| KEHF-C
— 16— 17
=E 15  — 5 A =z ‘ AR 3 — 15 B B21
G-6| K¥E&F-C 2 7 — 15 1 F—ABE F28ETIVJIVC G-6| KE&F-C 1 15 — 7 2 ATV Twe—+2J73—
15 7 16— 17
288
FO—F DJ7»3U—08% BJOVIOTE =D FO—F D73 —0DE 3 4f1)—=0
78 _ [ B v R 1 YRR # . . _ [ 8 v EE 1T YRR % o
T-L8 BT e B & [ %[ & F s B W ; T-L% BT el Bl & [ % [ B &% x| " U
B | EMSESVC 1 2 3 5 [060 |90 | 97 093 |4 3 A4 EZEETVIVC] O 3 0 6 (000 | 38] 90 |042 |3 4
= ATy bk 3 0 6 1 |00 [99 | 57 [174 |6 1 B4{i7[COCONAOKF-V-T| 1 2 3 4 o075 |88 90 |098 [4 3
BB | COCONAOKF-V-T| O 3 1 6 1017 | 60 11021059 |3 4 A3fl| YT+ — 2 1 4 2 1200 |81 | 67 |121 15 2
B [ZvE—-opsU—| 2 1 4 2 [200[81] 74 1109 |5 2 B3fii] EMESVC 3 0 6 1 [600 [103] 63 | 163 |6 1
[ F—AB B F—AB [ = H [ F—-—ALB Bl F—-—ALB [ = i
B 15 — 17 B B AdfT 3 — 156 B3 A3
F-1 ERESVC 0 7 — 15 2 | JyE—+IPI1—|COCONAOKF -V T F-1 |®28&ETJVJVC| O 3 — 15 2 SEMESVC YT 1 —
==z 15  — 5 Hi B B4fi 15  — 17 ABfi AAT
F-2 | ATvhk 2 15 — 7 O |COCONAOYF VT EMESVC F-2 |coconaoxF-v-T| O 10 — 15 2 HHF ¢ — =21 7JIVC
i 15 — 4 Bm EA) ALRT 3 — 15 ABfI B3
F-3 | EMBSVC 2 12 — 15 1 |COCONAOKF -V -T|TvtE—+I»p3I1— F-3 |&8&ETVJVC| O 9 — 15 2 Y8F 11— REESVC
15 — 7 —
=z 15— 10 B B B4fi 10 — 156 B3I AAT
F-4 AT~ 2 15 — 9 0 |Pve—opzy— SERESVC F-4 |coconao®F-Vv-T| A 15 — 13 2 EMEBSVC 28T VJIVC
— 8 — 15
B 6 — 15 == B ALRT 3 — 15 B4fi AST
F-5| EMBSVC 1 15— 9 2 AILTY COCONAO¥F +V« T F-5 |&8&ETVJVC| O 12 — 15 2 |COCONAO%F-V-T| H&HF1—
5 — 15 —
] 12 — 15 B == ABII 9 — 15 B3 B4
F-6 |COCONAOXF-V-T| O 10 — 15 2 |pvE—-DrpzU— NITwv F6| Y897+1— 0 10 — 15 2 EMESVC COCONAO¥F + VT




H29 8 278V 7 hN\L—RB7OY 7T T AT« /N in &R

2017.11.18-19

NS € =y NS

188
HO—k LT —208 AJOvDOFHE -
g _ B 8y DS T YRR ¥ o
T-LB g lTe Bl E[w B[ E] % = " @
JosbiEd 3 0 6 1 600 1104 61 | 170 |6 1
K-CLUB 2 1 4 2 1200 [ 771 60 128 |5 2
ROUGH 1 2 3 4 1075 [ 84 [100]084 | 4 3
BRI | AN—YDS5TZ] O 3 0] 6 [000 47| 91 [052 |3 4
B F—=—ALB Bl F—=—ALB ES H
RE 15  — 6 =) ]
H-1 j=fisa 2 15 — 3 0 | AINR=WOHSTZ ROUGH
= 15 — 12 ] e
H-2 K-CLUB 2 15 — 6 0 ROUGH j=cfisa
RE 14  — 16 BE EH
H-3 j=fits 2 15 9 1 ROUGH AN=YDS5TZ
15— 10
= 15  — 8 =0 R
H-4 K-CLUB 2 15 4 0 | AIN=WOHSTZ j==FiEd
) 15  — 7 = Bm
H-5 j=<fitd 2 15 — 10 0 K-CLUB ROUGH
BE 15 — 12 =2 =
H-6 ROUGH 2 16— 14 0 | ZAIN=WHSTZ K-CLUB
188 ) \
IO—F ULTs—ROE BTJOVIOFE D
_ B By IS A YRR B i
T-hB g1 e Bl E[w Bl &% |x " ©
HDE 3 0 6 O |600 |90 | 58 | 155 |6 1
= ZERO 1 2 2 5 1040 [ 85| 87 098 |4 4
%9 | Cloud Nine 1 2 3 4 o755 92 ] 95 Jogor [4 2
ZR| LTSV 1 2 3 5 Joeo [ 88| 115]o77 [4 3
B F—ALB Bl F—-—ALB [ = H
B 15 — 9 B ]
-1 HDE 2 15 — 10 0 LI035V Cloud Nine
== i0 — 15 ] BE
-2 ZERO 0 13 — 15 2 Cloud Nine HOE
B 15  — 13 Bm =z
-3 HDE 2 15 — 8 0 Cloud Nine JUPSVUR
= 14 16 =) ]
-4 ZERO 2 15 — 6 1 JUDOSUR HOE
15— 5
=] 15 — 12 == ]
-5 HOE 2 15 — 6 0 ZERO Cloud Nine
HE 15 — 10 =2 ==
-6 | Cloud Nine 1 16 — 17 2 AVZIAT NP ZERO
10— 15

288 i
HJ—F U7+ —XDE 1«21 )—=20
- _ B W vy b S 2 o
| 0 = = S S = O I -
A2{i1 K-CLUB 1 2 4 4 [100 | 95 [102]093 |4 3
B21{ii] Cloud Nine 0 3 0] 6 o000 58] 90 [oe4 [3 4
AT Jrakas 3 @) 6 2 1300 [116] 83 [ 140 |6 1
B1fi1 HOE 2 1 5 3 [167 [102] 96 | 106 |5 2
[ F LB EEEEES F—AB = H
A2l 15 — 13 B1fu ATf
H-1 K-CLUB 1 11 — 15 2 HOE =¥
7 — 15
B2f 11— 15 ATf Aot
H-2 | Cloud Nine 0 11 — 15 2 j=<fitd K-CLUB
A2l 15  — 13 A1fT B
H-3 K-CLUB 1 8 15 2 =<t HOE
9 — 15
B2f 10 — 15 B Aot
H-4 | Cloud Nine 0 10 15 2 HOE K-CLUB
A2 15 — B B2f1 Alf
H-5 K-CLUB 2 15 — 8 0 Cloud Nine j=<pitd
ATf 15 — 7 B B2
H-6 j=<bicd 2 13 — 15 1 HPE Cloud Nine
15 — 7
288
IO—F UT1—RDE 3 4f1 =0
_ B 8 Ty EXR A YRR 2 i
T-L® ETe Bl EIEF Bl E] % x| " U
AhN=YD5T7] O 3 1 6 |o17 [ 733|102 [072 |3 4
ZERO 2 1 4 3 1133190 | 84 [107 |5 2
v ROUGH 1 2 3 4 1075 [ 82 83 1099 |4 3
B3| JULISVR 3 0 6 1 |e00o |96 [ 72 [133 |6 1
B F—-—ALB 8 fd R F—AB [ = H
AL 12— 15 B3 A3l
-1 | RR=Y23TZ7| 0 10 — 15 2 LISV ROUGH
B4l 15 — 7 ABfi AL
-2 ZERO 2 15 — 13 0 ROUGH AN=VYDS5TZ
AT 5 — 15 A3 B3
-3 | RIN=WYDS5TZ| O 12 — 15 2 ROUGH U035V
B4 5 15 B3 AL
-4 ZERO 0 13 — 15 2 JUOSVR | ZAIR=YDSTZ
A 15 — 12 B4t A3
-5 |ZMN=YD35TZ7| A1 12 — 15 2 ZERO ROUGH
7 — 15
ABfi 15 — 6 B3 B4
6 | ROUGH 114 — 15| 2| JLISYR ZERO
13— 15




